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1.  

 

2. ¸) gj;jpdplk; 

¸¸) 6000 

 

3. 3𝑐𝑚2 

4.  

 

 

 

5. 900 × 3 = 2700 

6. $u;Nfhzk;  tpupNfhzk; 
 

7. 94 

8. nrk;gf;fq;fs; ePsj;jpy; rkdhdit> vjpu;g;gf;fq;fSf;fpilNa ,ilntsp rkdhdJ 
 

9. 12 , 16 

10.  ( 12 , 9 , 15 )  

( 2 , 5 , 13 ) 

 

11. ¸) rJuKfp  ¸¸) rJuk; 

12. 15 ( 30 

 

13.  

 

 

 

 

 

 

14. 3 × 3 × 2 × 2 × 2 = 72 

15. 1 𝑙 300𝑚𝑙 + 750 𝑚𝑙 =  2 𝑙 050 𝑚𝑙 

 

16. 𝑥 − 25 
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19. 9643 

20. −8 < 2   4 >  −4 

 

 
gFjp ¸¸  

1)  

I.  

24 

 

II. 8 

 

III.  g]; tz;b 

 
Jtpr;rf;fu tz;b 

 

 NtW Kiwapd; %yk;                                          30   

IV. 24 

 

V.      

 

VI. 26 + 16 + 28 + 40 + 32 + 30 = 172 

 

2)  

I.  

 

 

 

 

II.  

a) 500𝑔 + 100𝑔 + 50𝑔 

b) 1000𝑔 − ( 100 𝑔 + 50𝑔) = 850𝑔 

 

III. 58 𝑘𝑔 500𝑔 −  37 𝑘𝑔 750 𝑔 = 20𝑘𝑔 750𝑔 

 

3)  

a)  

I.  

 

 

 

 

 

II. epWjp  tlNkw;F  D <rhd  

b)  

I. 49. 28 

8.28 

 

    

• Nehahsp xUtUf;F toq;fg;gLk; kUe;J tpy;iyapd; epiw 

• tPnlhd;wpy; cs;s ePu; jhq;fpapy; cs;s ePupd; msT 

• ngd;rpy; xd;wpd; ePsk; 

• Njf;fuz;b xd;wpy; mlq;fpAs;s jputj;jpd; msT 

• 𝑘𝑚 

• 𝑙 

• 𝑚𝑔 

• 𝑐𝑚 

• 𝑚𝑙 
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4)  

I. 𝟐 × 6  2 × 𝟏𝟎  𝟒 × 3  𝟓 × 4 

II. 𝟏 , 𝟐 , 𝟒 

4 

 

III. 6 , 10 

 

IV. 𝑎 = 9    , 𝑏 = 16 

4 , 9 , 16      rJu vz; 

 

 

5)  

I. 3 𝑚 65𝑐𝑚 + 5𝑚 50𝑐𝑚 + 2 𝑚 85 𝑐𝑚 = 12 𝑚 

 

II. 12 × 4 = 48 𝑚 

 

III. 48 × 150 = රු. 7200 

IV. 8 ∶ 12  

2 ∶ 3 

 

V. 2 × 6 = 12 

 

6)  

I. maP\h  
1

3
 RNud;  

1

4
 

 

II. 
3

5
+  

4

15
   =  

3 ×3

5 ×3
+  

4

15
   =  

9

15
+

4

15
   =  

13

15
 

 

III. 
3
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IV. 
3

5
 >

3

8
  epfpy; 

 

V. 
1 ×5

3×5
 =  

3

15
  

3

15
<

4

15
  m`kj; 

 

 

7)  

I. Fwpj;jy; 

 

II. A   ( - 4  ) 

 

III. 5 

 

IV. 𝐹 > 𝐸  𝐶 > 𝐹  𝐹 < 𝐵 

 

V. 1, 2, 3 
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